Zadatak 2.

RjeSenje.

RIESENJA ZADATAKA IZ UDZBENIKA MATEMATIKA 3 ZA 3. RAZRED GIMNAZIJE

Provjeri dasu sljedete funkcije parne:

1) f(x) =sin’x; 2) f(x)=sin|x;
3 :fmx—tgx; g X—Snx
sinX + ctgx X+ sinx

1) f(—x) = §m?(—x) = (—sinx)? = sin’x = f (x) (parna);
2) f(=x) =sin| — x| =sin|x| =f (x); (parna)

3 f(-x) — sn(—x) —tg(—x) _ —sinc—(—tgx) _ —sinx+tgx _

sSn(—x) +ctg(—x)  —sinx+ (—tgx)  —sinx —tgx
—(sinx—tgx)  sin(—x) —tg(—x)

—(sinx+tgx)  sin(—x) + ctg(—x) =1(9; (pam3)

2 _ —X—8in(—x) —X—(=s8inXx) —X4+s8Snx —(Xx—snx)
) (__X) T x+s8n(—x)  —x+(—sinx)  —x—sinx  —(x+ sinx)
XZSNX_ ¢ (5 (parna).

X+snx





